Add and subtract two column vectors to give a
resultant vector

Miss Davies
Maths

1

| &



Add and subtract two column vectors

1. Look at the diagram.
B

A

(@) Write the following as column vectors

(i) AB (i) BC (iii) AC

(b) Use the column vectors from part (a) to
show that AB+ BC=AC

(c) Now use your answers to part (a) to show

that AC — BC=AB

2. 2 A
S = ) t= 1 \\
(%) =(1) N
(a) Calculate the following
(i) s+t (iijs—t (i)t —s

(b) Match each of the resultant vectors

from part (a) to the following diagrams.
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Add and subtract two column vectors

3. 1fq= (g)

Find:
(@)g+r

r= (—52)

B)a+s
(e)a-s

(h)s—q

4.fx= () .y=(%)andz=(3)

A calculation involving x and y gives the

following resultant vectors.

What could the calculation be?
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Add and subtract two column vectors

1. Look at the diagram.
B

A

(@) Write the following as column vectors

(i) AB (3) (i) BC (%) (i) AC (g)

(b) Use the column vectors from part (a) to
2+4\ _ (6

show that 4B+ BC=AC  (5-7)=(3)

(c) Now use your answers to part (a) to show
6-4 (2

that AC — BC=AB (2 - —1) = \3)

2. 2 4
S = (_2) t= ( 1 ) \\ | .
s ‘\F\
(a) Calculate the following
(i) s+t (—_]2) (ii)s —t (_63) (i)t —s (-36)
(b) Match each of the resultant vectors

from part (a) to the following diagrams.

\*(—63) M?)
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Add and subtract two column vectors

3. 1fq= (g)

Find:

r= (—52)

(c)r+s
(%)

fi)r—s

41fx=(5).v=(%)andz=(%)

A calculation involving x and y gives the
following resultant vectors.
What could the calculation be?

@(z) O3,

X +Yy
ory +x
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